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ABSTRACT

THIS PROGRAM WILL INCREMENTLY TEST AND ISOLATE SIMPLE MALFUNCTIONS
RELATED TO THE ASH INSTRUCTION

REQUIREMENTS
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T
TRAPVEC+10: RETLRN TO TES ﬂ SCOPE
RESTORE ALL LOCATIONS BEFORE PROCEEDING TO NEXT TEST.

7.0 &TRICTIONS

8.0 W /IHE_STACK POINTER(RG) WILL CONTAIN THE

1 QEEITE e o 1 o

8:2  JAIS PROGRAN INITIALLY SETS THE STACK POINTER AT SOO.

9.0  PROGRAM DESCRIPTION
WITh DIFFERENT SHIFY CONTS IN AL THE REGISTERS.
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% SC P = 10701
-

67757? g!SPLAYs?Ii

AN0000 D&‘HY: HALT

00000 M=0

000000 .=0 ;TRR® CATCHER 0 - 778
00004 13938 §ENBRD
000052 6&
000200 ::::" 000S76 BEGI

T R
7
ER=ZR=R3 BIRINATRG° §

+

ICNT:
000042 013730 BEGI: g‘nga,m MMT}S%

a:“ ,RS ;M“Faﬂigﬁssormmmsm

(5) :END OF MESSRGE?

G ;vs; GO START TEST
:PRINT CHARARCTER
ssm.xa ; #% STACK AT SO0 ##
o@.am sWHICH REGISTER SET?

48PS sAL TE!
400, 98SKR ;Lm REG??
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3 RRRREERNEREEEEREEEERE TR0 00 I I 003 0 2

iTEST 1 ASH O SHIFTED BY -16. =0 PS =4
DEEREEEREREEEEA AR R R R R R RS RS AR R R

001102 010701 SCOPE
ﬁ?& 012700 ?omoo MOV :g xo - Lo?gT ngo ugym ?5
n 4 ? 77;7792 15222 %9 , aiggsu 5 PS
ﬁ 122767 12614 E’g" -24 : IS PS 42
gu % ; u.? g :THE PS IS NOT EQUAL TO Y4
001134 022700 000000 CMP 80, %0 :IS THE RESULT 0?
001180 001401 BEQ 44
001142 000000 HLT ;RO IS NOT EQUAL TO O
uumnnmu 1222222223232 3232322
STEST 2 RSH OSHIFTEDBY 0 =0 PS = Y4
ufm GRESEEFLF IRV SRR LIRS RRE BTS2 HRRERES
1144
811% gi% 000000 W 80, %0 :LORD RO WITH O
001152 072027 000000 ASH 80, %0 :SHIFT RO BY O
g 0o s BEE ML Y s
001172 00IM0 zg .44 i '
1174 HL s THE rﬁ 1S NOT Soum. 0 4
1176 000000 CHP %0, %0 ;1S RESULT 0?
1202 00140 BEQ L+
001204 amﬁ HT :RO IS NOT EQUAL TO O

cHFUGEBUBHE RS T RE R LR PP R RS ST AR UEREREEE
'TEST3 RASH O SHIFTEDBY 16. =0 PS = 4 -
;"“Qmmm SEEBFBLLUPIBLABEERLELEELER
0118 012703 BV T s - WITH O
001214 % g ué..& : 0‘?7% 6'/
001 15767 012516 Ry s :
Dok 122767 00000 O15218 CHPB &4 8 THEPS 47
giw 8000 E? 4 NOT 0 4
001538 W 000000 CHP  $0,%0  ToEThE RESICT Bk
001244 336006 BEQ 44
001246 LT ;RO IS NOT EQUAL TO O

—— —— ———— - e P
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s BREREREEEEEEREER R 0 I 0 0 R R

:TEST 4  ASH L SHIFTEDBY 0 =1 PS=0
-llllilllll!l!!llllllill!iillllll’lllliillll!l!ll!ll!l*l!liill!llllil
SCOPE
- RN 800 TR BY O
012454 Ru  eelpsy :
012446 asm ng,.%u : 18 PS 07
n9 ” ncpsxsnorsmrou
CHP sl IS THE RESULT |
aeg .+
HL sRO IS NOT EQUAL TO 1
;lil!!!!llllllllli&!lllllllllllll!llllillll!lll!!li!liiil!ll!!!!ll&!!
:TEST S RASH 1 SHIFTEDBY 1 =2 PS=0
;; EELFBEFIEREREBRBERER 2R
o 81 HITH |
VR {EAPT o B 1
012412 MOV 3PS PSW P
012404 gwa 80, PSu xs PS 0?
e .+
HLT sTHE PS 1S NOT EQUAL TO O
&r :ngu ;IS THE RESULT 27
u.? ;RO IS NOT EQUAL TO 2
lili!iiliiilll!ll!ll!! 21222233
n:srs ASH 1 SHIFTEDBY 2 =4 PS=0
FEREE R SRR R E LSRR LB R R B R REERER FRETELBLLERPLARSE
ROV © o HITH 1
M el kﬂ“&“ﬂa a2
012350 MOV . 3sPS,PSW
012342 ucm : ngapsu ,IS n: PS 0?
HL ) NOT sauu. T0 O
CHP M, %0 .xs rg E
BEQ L+
HLT RO IS NOT EQUAL TO 4
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!!l!!l!lllliilllllillll!!l!l!llllll!llllllilllllll’ll!lllll!l!!ll!ll

TEST 7 ASH 1 SHIFTED BY 3 = FS = 0
ll!lllllll*l!lll*lillli!!*&!l!!illillllll!lllll!llill*i*!*l!l!*!llll

001416 010701 SCOPE

miuao 0l 000001 MOV .:1’ 3:/_3 Lo&% “g”;‘

81& 13767 | 012306 %‘J 3%PS PSW ?.Eve PS

m}ﬁ maam 000000 012300 &m cgqpéu : 1S THE PS 0?

gm HL ] : THE PS 1S NOT EQUAL TO O

001450 022700 000010 CHP $10,%0 :1S THE RESULT 107

001454 00INOI BEQ .4

001456 000000 HLT sRO IS NOT EQUAL TO 10
ll*ll!ll!il!!!lllll!!!!!ll!!!i!li!li*!ill!!!!l!!l!iilliili!il!ll!i!i
:TEST 10 1 SHIFTEDBY 4= 20 PS = 0
li*l!ilii!!iliiililillllll!l!!ll!lll'li!ll{lli!li!l{!llillll!!lll!ll

giuw 7 1 MOV 3 HITH 1

Bhe pew oo A I LT

0014 13767 1 012244 MOV sPS_PSW

001 ..Lazzsr 012236 CHPB PSW xq THE PS 0?

001 1401 - asg

omgx HL :THE PS IS NOT EQUAL TO O

001 000020 cHP ,%0 :1S THE RESULT 207

001516 001401 BEQ

001520 000000 HLT :RO IS NOT EQUAL TO 20
;!il!llil I2FI T332 T TSI LIRS L ST IS TS ST I SIS LTSRS
;rssvu ASH 1 SHIFTEDBY S5 =4 PS =0

. 3 !!ii!lli!liliill!l!!llll!iil!l!illl!lilliii&llllii!il!!!l!!!!!i

001522 81% SCOPE

001524 01 0000C1 MOV 81,40 Lono RO WITH 1

001 ASH 8570 IFT RO BY S

%1 7 12202 MOV 93PS, PSU ; pg

1 122767 12174 CMPB  80,PSM :Is PS 0?

umg 00140 BEQ .+

001 HLT Tg & S NOT t:oum. 00

Bl maw & e

om% omoaﬁ HLT * ;no IS NOT EQUAL TO 40
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§ IR I I 0 T T 0 I I 0 0 0 T T O B T R R

:TEST 12 ASH | SHIFTED BY &6 = 100 PS = O
,iill!*l*l!lll!l!li!*li!!li!!l*li!l!lil*i&iilill!!llllllllllllll!li!!

SCOPE

MOV 81,%0 sLOAD RO WITH 1

R

g:? -gqpsu !'fgv%: PS 07

HL { NOT Eoum. 00

CHP #100, %0 rﬁ &

aeg .44

HL ;RO IS NOT EQUAL TO 100

¢ SESE 300 ST T30 00 36 30 36 00 00 3606 0600 30 3606 0 30 36 0 36 36 30 0036 T 00 000 36 30030 30 06 0630 30 00 T S S

sTEST 13 RSH 1 SHIFTED BY 7 = 200 PS =0
P EERHEHERHEHOHEHHE R R

SCOPE
s, W m 1
- B R
cMPB  80,PSW ;1S THE PS O?
E? . S NOT seunL T0 0
gp} oago,m rg 55
i 3 ;m IS NOT EQUAL TO 200

§ FHHHEHHEIHEHHES FHEHHHHHEHHHHHEEHHHHENEHHHHEHHHHEE HHHEEHHHHHEHHHHHEE
sTEST 14  RSH 1 SHIFTED BY 10 = 400 PS =0

lii! 9 330 3636 3 36 36 96 36 9 36 90 36 36 38 36 96 3 3 3 3 36 36 9 36 3 36 3 3 3 3 36 36 3 3 36 3 3 3 3% 3 3 %
W 81,%0 sLOAD RO WITH 1
% 3195% ; mpgo BY 10
&n 80 E g PS 0?
u.‘r' -4 NOT E 00
&3 ogqno.za Exs Esu.r ?
HLT ’ sRO IS NOT EQUAL TO 400
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§ SETETE T TR 36 306 3606 36 00 0036 3006 36 36 000 36 06 30 00 30 00 30 00 0036 00 00 06 30 0 30 30 00 0036 00 00 0 30 00 00 0 T R A

sTEST IS ASH

1 SHIFTED BY 11 = 1000 PS =0

!ll!!!llllllllllliliiillli!llllllilliil!!il!il!ili!il*l*lll!!li!!*l!

1,%0 ;LORD RO WITH 1

8l

3 1} xgs“ sumpsno BY 11

o&%u :‘fgv;»: PS 07

; nipsxsnoremroo
ulgoo.zo :1S THE RESULT 10007

;RO IS NOT EQUAL TO 1000

33 3306 3636 36 3030 00 36 36 38 3 30 36 36 38 36 3000 0638 36 030 36 36 36 30 06 3606 36 3 36 36 3636 90 36 36 %

1 SHIFTED BY 12 = 2000 PS = 0
SHHHEHHERHHEHHEEHHE HHEHHHEHHEHHEEHHEHHHEHHHHHE

y A R
dﬁﬁm el

;THE_PS IS NOT EQUAL TO O
cggm,m ;IS THE RESULT 20007
l

RO IS NOT EQUAL TO 2000

5 SHESHIE IR JE 000 30 ST 0TI 06 3006 3006 T 06 T 06 30 3 3 I I M

sTEST 17  RASH

1 SHIFTED BY 13 = 4000 PS =0

!!!il!l!li!!!!i!lllii!illlill!**!l*l**!!!!***ill!!!i*liil**l**l**I**

sea§§a§g

3

8l ;LORD RO WITH
3& :SHI Pgo BY I

agﬁPéu :% PS 07

: .TPEPSISNOTEOUFI.TOO
nﬁw.m :IS THE RESULT 40007

;RO IS NOT EQUAL TO 4000
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5 SRR 00 0000 30 00 00 00 000 3600 000030 3000 0 300036 00 006 00 0 6 36 00 0 36 0036 36 00 36 060 6000 00 0 0

ASH 1 SHIFTED BY 14 = 10000 PS =0
lllllilllllllll!!llllllllllll!!ll!llllllllli&l!ll!lll*il!i!!liil*il*

SCOPE
MOV

o

s TEST 20

CMPB
ae? .+
HL _
CHP #10000,%0 -

6 A

sLOAD RO WITH 1
IFT RO BY 14

TEPSISMTEGH.TOO
;1S THE RESULT 100007

;RO IS NOT EQUAL TO 10000

5 SE3 30336 30 00 00 330 36 30 S0 00 30 00 00 36 00 06 038 S0 06 036 06 06 3630 36 36 06 3600 36 30 0 36 36 0600 0 36 36 00 030 00 000 0 0 S R

ASH 1 SHIFTED BY 1S = 20000 PS = 0
imuimmuinnmimuiuiumnmnmfmunu

s TEST 21

§§s§§§§§§§

Il 70
815 %0
o PSK

!
#20000, %0
.44

{ERTPT “m1§

:Wrs 0?

18 he ABsliT 80cae™

;RO IS NOT EQUAL TO 20000

ummm&m&mnmumnmm&naunmumm

; TEST 22

ASH

1 SHIFTED BY 16 = 40000

!!HW“W"IMM!H“WW!MM"!WWM

SCOPE
)

RSH 816,70

MOV 3sPS, PSW

CHPB

81,%0

"
#40000, %0
.4

;LOAD RO WITH 1
;SHIFT RO BY 16

%PSPS 0?

;THE PS IS NOT EQUAL TO O
;1S THE RESULT 40000?

;RO IS NOT EQUAL TO 40000
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3 HHHEHHHEHHHHHEHHHHE R R
TEST 23 ASH 40000 SHIFTED BY 177762 = 1 PS = 0

.!!!l!i!li!l!il!ll!!il!!!l!t?i!i!!!!ii!!!iill!li!!iili*i***l!i*!&*&*i

OPE

38v $40000, %0 .LOAD RO WITH 40000

ASH 8177762, %0 :SHIFT RO BY 177762

MOV 38PS, PSH ,W

R e et

HLT :THE PS IS NOT EQUAL TO O
CMP 81,%0 :1S THE RESULT 17

BEQ L4+

HLT sRO IS NOT EQUAL TO 1

!!;#l;:!i*!ll*lli*ll*l!!!l!il**lll***il!*i*!l!*;;l*iﬁl*i**l*l*!i*i!*

RSH 40000 SHIFTED BY 177763

*l!!*!***’!*!lil!!*****ilfll*l*ili!ilill!li!I!il!*l!ll!!*lllll!!*l!l

SCOPE

B, AR

MOV 8PS Psh

grg;a ogqpsu ,IS PS 0?
:THE_PS IS NOT EQUAL TO O

cm 82,70 :1S THE RESULT 27

B5Q .+

HLT ;RO IS NOT EQUAL TO 2

3 SIHHHEHHEEHHHHHEEHHHHHEHEHHEHEHHHHEHEEHHHHEHHHHHEEHHHEEHEHHHEEE
;TEST 25 ASH 40000 SHIFTED BY 177764 = 4 PS = 0
O O O R

$40000, %0 ;LOAD RO WITH 40000
5%%0 sumpsm BY 177764
PSW '?gv%-: PS 07

TI'EPSISMTEGU‘ITOO
™,%0 ;1S THE RESULT

;RO IS NOT EQUAL TO 4

FRYERYEREE
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DCKBIB.SRC :

3 BRI 06060 T 00 T30 30 00 0 30 00 T30 30 00 0030 30 36 00 030 30 06 030 36 30 00 0030 30 00 06 3600 00 0T

;TEST 26 ASH 40000 SHIFTED BY 177765 = 10 PS =0
T s P L P T PP T E T

002414 010701 SCOPE
Xols B oo SR
Eﬁﬁ 81'5%7 1 011310 ng'\'/' 8PS ?“
002434 122767 000000 011302 CMPB  #0,PSW : 15 ms PS 07
B0s44s B30 K o

HL :THE PS IS NOT EQUAL TO O
002446 022700 (000010 CMP #10,%0 :1S THE RESULT 107
% 001401 BE .44

000000 HL sRO IS NOT EQUAL TO 10

3 300336 36 0000 068 36 36 00 36 3636 36 36 0036 36 30 36 3636 36 36 36 36 36 36 360 06 36 36 90 30 036 36 00 0 36 36 36 0036 36 30 36 9036 36 30 30 0 36 30 00 30 206 30 0

sTEST 27  ASH 40000 SHIFTED BY 177766 = 20 PS = 0
SRR

1 SCOPE

% 31 040000 MOV $40000, %0 sLOAD RO WITH 40000

00246M 072027 ASH mmé %0 :SHIFT RO BY 177766

ggm 013767 177776 011246 MOV :SAVE PS

76 122767 &muo 011240 CHPB co PSu :1S THE PS 07
00520 000008 E? 4 THE NOT 10 0
| [ | Y

% De2700 000020 CHP ~ %20,%0 :1S szs &suu 539.“

002514 001401 BEQ Ry

002516 000000 HLT :RO IS NOT EQUAL TO 20
l&l*!!**&ii!!&!*li!*!!!l**!*!*!**!i!l**i*i!!*!lilli*ii*!li!i!!ii!!*i
:TEST 30 RASH 40000 SHIFTED BY 177767 = 40 PS = O
lll!llil!li!l!l!il!*!l!ii!*!!&l*llii&**!!*ll&li**!!*&*!li**l!l!*!***

66.%3 gi% 040000 novSCUI & #40000, %0 :LOAD RO WITH 40000

l

D025 5957 177767 ASH 8177767, %0 sSHIFT RO BY 177767

002532 013767 1 gHi204 S4P5. Pal $ SAVE PS

002540 122767 000000 011176 CMPB  #0,P5MW :1S THE PS 0?

002546 001401 BEQ e

002550 : HLT f..i 5: S_NOT EQUAL T0 0

% GG00M0 CHP 40, %0 xs T SULT 407

401 BEQ 44
002560 aﬁooo HLT : :RO IS NOT EQUAL TO 40
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;*!**!*!**ll**!**’****!l!!*il!*!*l*l**i*!*!*!ﬁ!*l**ll*!!!****&**!l**l

:TEST'31 ASH 40000 SHIFTED BY 177770 = 100 PS = O
;!ll!ffl!*!I!i!i!!iiii!lilllllliillilllilllii!!l!!*!li*!*ll!ll*!!llli
SCOPE
MOV 40000, %0 :LOAD RO WITH 40000
ASH 8177770, %0 :SHIFT RO BY 177770
011142 MOV J#PS,PSH ;?avs
011134 il agqpsu ;IS THE PS 07
HLT - :THE PS IS NOT EQUAL TO O
ggg :‘1'9'0,-/.0 ‘15 THE RESULT 1007
HLT : :RO IS NOT EQUAL TO 100
;iiil!ll!ll!lll!*l!l!l!l!l!!llll*!!lllll!!l!lll!!l!l!i!i!!iill!l*llll
:TEST 32 RASH 40000 SHIFTED BY 177771 = 200 PS = 0
;i!*l***i!!!&illi!l!!!i*li**l!l*!**ili!!!lllil!i*i*i**l**&!ﬁ********!
SCOPE
MOV $40000, %0 :LORD RO WITH 40000
ASH 8177771 ,%0 :SHIFT RO BY 177771
011100 MOV 3%PS, PSH :SAVE PS
011072 ggga ogﬁpsu 1S THE PS 07
HLT p :THE PS IS NOT EQUAL TO O
gens oggo.xu ;1S THE RESULT 2007
HLT 3 :RD IS NOT EQUAL TO 200
J &
;llliii!!lli!!illlll*lili!lli!!li!!iil!l!l!!lll!l!llli!i!l*l!ll!!ll&i
sTEST 33 ASH 40000 SHIFTED BY 177772 = 400 =0
;ll!!ll!llli!il!!!ll&lllll!lll!!l!!l!lllil!l!l&!l*i T3 TTETTET ST LE LSS
SCOPE '
MOV $40000, %0 :LOAD RO WITH 40000
ASH 8177772 0 :SHIFT RO BY 177772
011036 MOV 38PS, PSi :SA
011030 BI’:cmga thPSu :1S THE PS 0?
HLT oy ;THE_PS IS NOT EQUAL TO O
35"5 "130'7'0 ;1S THE RESULT 4007
HLT 3 :RO IS NOT EQUAL TO 400
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JEREERRERERES RN R RER R R R R RR R AR AR R RN R R AR R AR RERERERRRRRRERARE R ERRE RS

STEST 34  ASH 40000 SHIFTED BY 177773 = 1000 PS = O
I!Illlllllllllllillllllll!lllllil!lll!lllllilllllll!llliiiillliiliil

SCOPE

MOV %0 :LOAD RO WITH 40000

ASH M %0 :SHIFT RO BY 177773

MOV 38PS . PS

&m ;?s §|£ PS 0?

HL : :THE PS IS NOT EQUAL TO O

&_m sigoo.xo :1S THE RESULT 10007

HL ; :RO IS NOT EQUAL TO i0OO

§ R I 30 SIS S 3 S 36 0 S S I I I S I 300 S

sTEST 35 ASH 40000 SHIFTED BY 177774 = 2000 PS = 0
DEEERERERERRRAER R R R R R R R R RN

i K SETPT RO BY 179774
Sarefsl” 5%3;
THE_PS 15 NOT EQUAL T0 0

44
ot
;RO IS NOT EQUAL TO 2000

ERERgER

3 S HEHHHHHHHHHHEHHHHHEHHHHHHHEHHHHEHHHHHE HHHHEHHHHHEH HHHHE
;TEST 36 RASH 40000 SHWIFTED BY 177775 = 4000 PS = 0
P

5 mme maw
8l %0 IFT RO BY 1

MOV 8PS Bg

aem %0, PSW 1S THE PS 0?

HL ; mremroo

&m' w“t‘m.xo vﬁg

;RO IS NOT EQUAL TO 4000

A

£ =3
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RREREERERREFREERRRERERRRRRERERE R RN AR R AR AR RERRRER R RRRRRRRREERERE

:TEST 37 ASH 40000 SHIFTED BY 177776 = 10000 PS = O
;lllll.l!llllllli!lll'illlllllllll!llillllllllll!llll!llllllll!l!ilil
gcoepc %0 RO WITH
ASH o'x'% %0 Egﬁr% 37 1%
MOV 93PS, PSU ;?av; PS
&ma cgﬁpéu 1S THE PS 07
HL? 5 <THE PS IS NOT EQUAL TO O
gEm l&lm.'l-ﬂ :1S THE RESULT 100007
n.? ; RO IS NOT EQUAL TO 10000
;!ll!lllilllll!!i!illllll!ll!llll!llllll BEBERE4R
:TEST 40 RSH 40000 SHIFTED BY 177777 = 20000 PS = 0
;i!i FEERERRELPPEERERTRERRERES FRERE
nov5 Vi %0 : NITH
% o'x% %0 : ut'?t"ﬂn 3\! 1%
10564 av;gu:sh : B
10556 &n;a ",’4 .15 PS 0?
HT ; : THE NOT 00
&9 nggun.m : 1S gmr %?
HL y ;RO IS NOT EQUAL TO 20000
3 E 3 23
sTEST 41 RSH 40000 SHIFTED BY 0 = 40000 PS = 0
;!!litlll!li!lilllll!lilllli!llllll!ll!!ill!ll!iilllll!liili!lll!!lll
SCOPE
%0 : HITH 40000
ﬂ no' u%u, Ekﬂmrgr% 5\! 0
MOV aégésu ; S
E" sgﬁ .15 PS 0?

H :THE PS 1S NOT E 100
CHP 840000, %0 .15 rE ksur »

BE .44
HL? ;RO IS NOT EQUAL TO 40000
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i
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A

D02
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s EREREREEREEEREREEEEE RT3 0 0000 00 3030 000000 00 0 00 0030 30 30 36 30 0 0 0 00 20

:TEST 42  RSH 100000 SHIFTED BY -1S. = -1 PS = 10
!!!I!IlIlll!l!l!i!lllllllllllll!l!llllll!llilllllllll!lllillll!!!ll!
MOV 100000 HITH |
R
&m '},P,"s“ ?g"f’t: PS 107
n.? s THE PS 1S uov soun. 10 10
% 4 “1',/4: :1S THE RESUL
HLT 5 :RO IS NOT EQUAL TO -1
lllillilli 1323222222222 S22 SSTILEISLIISSS LS 2
:TEST 43 ASH -1 SHIFTED BY 1S. = 100000 PS = 11
,llllil EEERGER R LR LGRS R RN E L LRSI L LR R R PSRRI BE AR EREE
SCOPE
MOV 2- .Lono RO WITH -1
% js IFT RO BY 1S.
CHPB m .xs PS 117
HL s THE NOT E 10 11
(P #100000,%0 S ne gs;u 106060°
u.? , :RO IS NOT EQUAL TO 100000
s REREEE e
:TEST W4  ASH -1 SHIFTED BY 16. =0 PS = 7
;ll FRRFRELBER R R C LR R E AR R R LT ER

G R

o .’.& ?‘:E;%"&“‘

nzﬁpéu :Is PS 7?
3 ;THE PS IS NOT EQUAL TO 7
ngﬁxo ;1S THE RESULT 0?

;RO IS NOT EQUAL TO O
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3 SRS IS 0 S 0TS 300 T 00 0 S 00 30 36 300 00 00 0 00 20 00 06 00 30 36 00 6 00 00 30 30 30 30 3630 38 0 30 00 00 30 36 30 30 36 0 20 00 30 3

sTEST 45 ASH

SCoPE
oV
&9

HL

137777 SHIFTED BY 15. = 100000 PS = 13
l!!ll!illil!lllll!lllil!l!lllll!!!lllll!lilllllllllllll!!i!llillliii
WO
Sipe  3VE P
og.ksu 15 THE PS 13?
’ :THE PS IS NOT EQUAL TO 13
oigoom.zo :1S THE RESULT 1000007

7

8§§§§§§§

F

TEST 47 ASH
REE

§§§§§

ERQE

RSH

;RO IS NOT EQUAL TO 100000

3 SSRSEIE S TSI 00 36 0 0 030 06 06 00 3006 08 S0 T 00 30 06 0630 30 00 00 06 30 00 06 3036 36 30 000 30 06 3000 630 36 00 00 30 300 00 90 330 30 30 30
TEST%

125262 SHIFTED BY 1 = 52524 PS = 3
PET TR TSTELEELTLIL LIRS ESTLTITTIT LT LS S
u %0 ;Lo%m WITH 125252

PSM i2vE pe. O !
oﬁéu ;IS THE'PS 3?

sTHE PS IS NOT EQUAL TO 3

-gsau.m :1S THE RESULT 525247
: :RO IS NOT EQUAL TO 52524

TR I I3 0 0 3

SHHHHHHHHHHHHHEHHHHHHHHHEHHHHH
1asasas-lmcoav-1sxsasas PS = 10
HHHHHHHHHHHHHEHHHEHHHEHHHHEHHHHE

81252Se,”%0 ;LORD RO WITH 125252

PRV

llO ;IS PS 107
IEESES.ZO .IS 72 ga"fr E%TO ot

;RO IS NOT EQUAL TO 152525
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OCKBIB.

'Ill'lllll!l!l'll!lll"l!!il'll"l!!Ill'lllli!llli!iliiillillIllli!'l!llliil

;TEST S0 ASH 125252 SHIFTED BY -2 = 165252 PS =
!l!!&lll%l!lillillllliil!!il!lllll!!l!ll!llll!lllliil!llllillll!llll

ROV - %0 WITH 125252

S uEe

gra lll IS TI-E PS 11?7

I-L? ; THE PS IS NOT EQUAL TO 1!
% ?‘1’35252.%0 ;1S THE RESULT 1652527

HL

;RO IS NOT EQUAL TO 1e52S2

3 SRS SIS S0 S I 36 30 36 36 336 36 0 06 06 330 36 0 36 36 06 00 036 36 3636 36 36 36 00 063036 36 36 36 38 3690 306 36 36 36 36 36 36003000638 36 36 30 36 3 3
:TEST 51  ASH 40000 SHIFTED BY 177762 = 1 PS =0
tEERERE ST I 30 S 3030 3030 0 0 0

90 3090303636 36 6 90 3 3 36 36 3 %
P, A,

003622 010701 SCOPE

% %1% % gigﬁ% M wwspgapsh xs n-: PS 0?

% % *? Xa ;THE_PS IS NOT EQUAL TO O
1 000001 e ahxx :1S THE RESULT 17

003662 % ? ; sR1 IS NOT EQUAL TO 1

¢ SRS S I3 36 00 36 3 00 330 36 36 36 S0 30036 3638 30 06 30 36 06 3636 3606 3000 00 309002136 30 00 3006 303036 36 36 3030 36 9090 30 0

TESTSE ASH WSHIFTEDBYIMEa:aPS 0
FEHH Y F R R R

003664 010701 SCOPE < . m?v"ﬁ “3,,“'
sl A S 1v (X s%zww%
mﬁzmmw CHPB ngqpéu :1S THE PS 0?

%ﬁ E? 4 s THE PS IS NOT EQUAL TO O
003716 022701 000002 CHP '34"1 ;1S THE RESULT 27

E

x L]
%;g ;R1 IS NOT EQUAL TO 2

— e em————— - - - —
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liil*il*llil!lillllilllllilll!ll!ll**i!lillilll!*l!*!ll*iii!!l*&l!l!

:TEST 53  ASH 40000 SHIFTED BY 177764 = 4 P§ = 0
lllll!l!l!ll!llilllllllli!!!l!{lllll!i!ll!lillllil!i!i*!!iliiiiiiili
gcosps %1 aa u&m
l 4, %1 g P‘r 1 1;%
007776 53‘5 a:lws
007770 &m ogqpéu : 15 THE PS 0? :
u.? 2 n-tpsxsnoremmo
CHP ™, %1 S THE RESUL
BEQ 44 :
HLT .m IS NOT EQUAL TO 4
l!!llilllll&!!!!!i!l!llili!ll!!ll!!i!lll!!illl!ll!i!!fll!!i!ill!!i!l
sTEST 54 RSH 40000 SHIFTED BY 177765 = 10 PS = 0
liil!!l!!&!!ll!l!!!! FREGHIBEIILERLPEN AL L BRI RFIRERTRE
SCOPE
MOV 840000, %1 ,Lono Rl WITH uoooo
ASH ¥ %1 gvn Rl BY 1
007734 MOV 8PS
007726 aem :gﬁpéu :1S THE PS 07
HL i nc NOT soum. 00
cHP 810,%1 Tﬁ RE
BEQ .
HLT ,m IS NOT EQUAL TO 10
-l!llllll!ll!lll!llllllllli!lllillll!! F23S ST T LTSS T2
:TEST 55 ASH 40000 SHIFTED BY 177766 = 20 PS = O
!!l&ll!i!lil!!l!!!l!lll!!!i!lliili!ilill!lllllll!ll!l!ll!l!l!ll!iil!
B wema o
RN e &u &1 A998
007672 MOV 8PS, PSH
007664 gtzra ngﬁpéu :Is m PS 0?
HL P s THE PS IS NOT oum. T0 0
CHP $20, %1 1S THE RESULT
BEQ .+
HLT :R1 IS NOT EQUAL TO 20




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

OONC7Y Diﬂ"ﬂl
004102 §72qg; 17775;
m‘li% 1375; 177776
gié&' 1401
glg 1 000040
004132 001401
004134

g g‘c{g 013%57 1
DoMiSe 13767 000000
004164 001401
004166
004170 022701 000100
004174 40
00<17®
OMc08 Bio781 040000

% 17797
004206 17 177771

: B

e

MACY1l 27(732)

007630
007622

00716

HO2

01-0CT-76 13:03 PARGE 21

s RERRRS SRR I3 00 00000036 0036 3000 36 30 30 36 30 2636 36 30 36 36 30 36 36 36 36 36 36 36 36 36 36 36 36 36 36 36 36 30 36 30 30 30 26

*TEST Sb 40000 SHIFTED BY 177767 = 40 PS = 0
;Qi!!&l!!!li!!!&!i!l*!!!l!l&*!!l!i!!lilll!l!!ll!l*!il!*ill*!l!!l*!l!!

SCOPE

MOV 40000, %1 sLOAD R1 WITH 40000

ASH 8177767, %1 :SHIFT R1 BY 177767

MOV 38PS, PSW ;snv; PS

n;a .%m :1S THE PS 07

HLT ’ : THE NOT E 00

e wou  TOETHE RESULT GoT -

HLT ; :R1 IS NOT EQUAL TO 40
;!l!!liillli!l!lliliillilllll!il!l!illiillllllilllll!!lll!!il!!ll!iil
:TEST 57 ASH 40000 SHIFTED BY 177770 = 100 PS = O
;llllll!illl!il!!lll!!iilIllll!!!!llllllllllllli!ll!ll!lllll!lll!!!ll

"sgvops %1 LORD R1 WITH

ASH n'x'% %1 : cIFT 51 BY 1

MOV S8PS, PSU : PS5

CMPB PSW .18 PS 0?

BEQ .+

HLT THE PS IS NOT EQUAL TO O

chv oiqoo.m ;1S THE RESULT 1007

HL ] :R1 IS NOT EQUAL TO 100
;illili!lll FPEREFEPEREERIUBR LB LS LR AP RE RS
:TEST 60 ASH 40000 SHIFTED BY 177771 = 200 PS = 0

¢ SHIETESIE TS0 00 0000 06 0 336 00 006 T 00 B8 30 06 6 38 S0 36 06 3138 36 066 36 00 3036 00 3036 36 9038 30 3636 3696 0038 3600 036 90 6 36 00 90 6 30 90 6 36 30 90 8

L

sLOAD R1 WITH 40000
*SHIFT R1 BY 177771

i
W o

.+
s THE S NOT EQUAL TO O
ugqoo.zx 1 1S r’lé }csu.r 200?

;R1 IS NOT EQUAL TO 200
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!ll!ll!l!lliil!!!ll!!llllillllli!!*!!!lllll*!l!!l!!l!ll!!lllllilili!
;TEST 61  RSH 40000 SHIFTED BY 177772 = 400 PS = 0
§ SHHHHEHHHHEHHHHEHHHHEHHHHEHHHEEHHEEHHHEHHHEHHHHHEHHHEHEHEEEHHEE

SCOPE
MOV %1 :LOAD R1 WITH
8177772, %41 sSHIFT RI év 1;%"
ey ;?.Hu
aem ngqpéu : 18 ns PS 0?
u.? 4 :THE PS IS NOT EQUAL TO O
% u:go,zx :1S THE RESULT 4007
HLT ; sR1 IS NOT EQUAL TO 400

3 SERESRIE Tt T TS 00 3 000 036 360 36 0600 30 30 0030 3000 36 00 0600 36030 T 0T I 36 000 036000 030336 20 3 6

sTEST 62 ASH 40000 SHIFTED BY 177773 = 1000 PS = 0
DHEEEHE R FHEHHEHHHHHHE

SCOPE

MOV %1 : RI W m lmcm

ASH u% %1 :54 “ &1

MOV 38PS, PSH

&ra CI‘J‘“I%H .15 nc PS 07

HL J ,mrﬁgmsmmn

&p sigoo,m : 1S SULT 10007

rt? 1 :R1 IS NOT EQUAL TO 1000
uuummmuuui Ei3:2 3

TEST 63 ASH 40000 SHIFTED BY 177774 = 2000 PS = 0
SHHHHEHHHEEHHHEEHHHEHHHEHHHEHHHHEHHHBEHHHEHHHHH

o Ty

L

ogﬁpéa 'S nc PS 0?
HLT ; NOT Eom. 00
& na’gm,xx TP&S 5?

HL : ;m IS NOT EQUAL TO 2000
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§ SRR T 300000 00 030 00 00 2030 B30 30 36 36 06 30 3006 30 30 36 3008 36 36 36 36 08 36 36 30 06 36 30 30 36 36 30 36 30 30 36 30 30 36 30 30 30 31 30 30

40000 SHIFTED BY 177775 = 4000 PS = 0
DB R O Y

sTEST 64 ASH

; §§§§§

RCY
cHP
BEQ
HLT

#40000, %1

11777;§ax1

m,%l
.

LOAD R1 WITH 40000
SHIFT R1 BY 177775
SAVE PS

;IS THE PS 07

;THE PS 1S NOT EQUAL TO O
;IS THE RESULT 4000°

;R1 IS NOT EQUAL TO 4000

5 SBT3 36 0000006 36 36 36 06836 36 36 36 3636 36 3606 3036 36 36 36038 36 36 30 06 036 36 00 30036 36000038 3606 36 3038 36 3600 90 36 30 90 9036 3600 00 0 6 6

;TEST 65  ASH

40000 SHIFTED BY 177776 =

10000 PS =0

ililll!!ll!!ll!ll!il!ii!llillilll*lill!lll§li!iillllllllllllil!lll!l

#10000, %1
.4

;LORD R1. HITH m
sSHIFT RﬂﬁY

S‘Mﬁ: s %7
1€ RE AEsicr 00052 © °

;R1 IS NOT EQUAL TO 10000

FEEREAEF RN R R R A IR SRR R A S B F R RS PR AR BE RS SR EH

SCOPE
MOV
ASH
MOV a
aeoE .+
HLT
CHP
BEQ
L] ur
TEST 66 RASH

. 40000 SHIFTED BY 177777 = 20000 PS = 0

lll!lliili!i!iiil!*!lli*!lill!iil!ilil!iil!liliiiliiiliil*l!iiilll*l

g\! RA HITH m
IFT
;IS TI-E PS 0?

;THE_PS IS NOT EQUAL TO O
;1S THE RESULT 200007

;R1 IS NOT EQUAL TO 20000
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Illl!!lllll!ll!ll!illlilg;llll!lllllllllll!ll!lﬁlilalI!llll!ll!!l!ll

; TEST 67

ASH

FTED BY 0 = 40000 PS

l*!*ll*lllll!il*lllli!i!***il*l!lll!lli*lllillllllll!illlll!!llillll

:TEST 71
; REE

SCOPE

ASH

ERYFRYEaE

mnoo %1 :LOAD R1 WITH 40000
%1 :SHIFT R1 BY O
aobs ?we Pz
Apsu S THE PS 07
nzpsxsnorsmron
-:gowm :1S THE RESULT 400007

sR1 IS NOT EQUAL TO 40000

;?E;#l;ﬁill;;;lllllllll!l!llllll’lliii!il!lillll!llil!illi!!iilll!!il
.

100000 SHIFTED BY -1S. = -1 PS = 10
HHHHHHHEHHHHHEHHHHHEHEHHHEEE

#100000, %1 sLOAD R1 WITH 100000
c-.é %] !sux ng BY -1S.
uo E?gv%-: PS 107

HE PE IS NOT EQUAL TO 10
né&su.r -1?

;R1 IS NOT EQUAL TO -1

3630333 36 S 30 36 00 30 30363 6 00 36 3030 3 06 00 36 38 3600 00 30 36 36 00 00 36 36 36 36 30 36 30 36 396 30 36 36 36 3

-1 SHIFTED BY 1S. = 100000 PS = 11
FHHHEHHHHEEHHEEHHHEHHEEHHHEEHHHH R

8-1,%1 HITH -1
uéf,xx §u 1 BY 1S.

3PS’ PSW

oﬁ,#sn oxs n: PS 11?7

" ;THE PS IS NOT EQUAL TO 11
olgmm.u :1S THE RESULT 100000?

;R1 IS NOT EQUAL TO 100000
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DCKBIB.SRC

il**l*ll*il*!!i*lll!!iil!l!liillliiilll!*!lliil!il!lll!lllllllllllll

sTEST 72 ASH -1 SHIFTED BY 16, =0 PS =7
lll!l!il!!!il!!!il!!!l!!lli*li!il!i!ll*lli!iil*l!!ll!*i!li*!!llllll!

S0izse BIPBl 177777 ROV T a-1,%1 LOAD R1 WITH -1

VUL EHT O e M M, BN

%m 15;27 63365? 772 gg’a uqusu :1S THE PS 77

%ﬁ HL . :THE PS IS NOT EQUAL TO 7
um% m{ 000000 gEnp '94‘1 :1S THE RESULT 07

g}m 000000 HL sR1 IS NOT EQUAL TO O

3 ST 3 00T 06 0030 6 0030 06 0636 0036 3630 06 00 36 3036 0036 00 360 36 330 3006 0036 00360036 06T 003 00 030 06 00 0020 T

sTEST 73 ASH 137777 SHIFTED BY 1S, = 100000 PS = 13
DR R R

nm% 010701 SCOPE
[i/i) 012701 137777 MOV u:rm? %1 sLORD R1 WITH 137777
0oN77M gmav 000017 ASH 815, , :SHIFT R1 BY 185.

00S000 013767 177776 006736 MOV ws :SAVE PS

005006 122767 000013 006730 CMPB  #13,PSid :1S THE PS 137

O020ie  Bo0000 Eg A S NOT E 10 13
%% 1 100000 CHP #100000, %1 xs T ﬁssu.r 1%0?
00S024 001401 BEQ 4

005026 HLT ~ ;R1 IS NOT EQUAL TO 100000

§ SRR 300000 0630 066 36 36 36 36 0636 30 6 3606 36 36 6 06 36 36 6 36 0636 366 3600 06036 3000 30000 00 00 IR I

sTEST 74  ASH 125252 SHIFTED BY 1 = 52524 PS = 3
DHEEEEHHHE O O

SCOPE

MOV :{2%52 J%1 Lo?gT néluémllasasa

% 3PS, PSW ggvz eg

gg’a ogqpéu :1S THE PS 3?

HL ’ :THE PS IS NOT EQUAL TO 3
% .sasaqw J%41 : IS rﬁ n?su.r §esau?

HLT ;R1 IS NOT EQUAL TO 52524




—— —

MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

&
é;é;

00S100
00S104
112

00S1

0oSiey
00S130
00s132

RRARGR
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—
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§ TR ERRE R ITHIIHIIH TN H IR RN R RRRERERRRRRE AR

:TEST 75 RSH 125252 SHIFTED BY -1 = 152525 PS = 10
iliil!i!!!!i!!!!i*l****li*ii!*****!li!*iiil*i*l!*l!*&****!*ll*!!****

SCOPE

MOV 8125252, %1 ;LOAD R1 WITH 1zsasa

ASH 8-1,%1 :SHIFT R1 BY

MOV 8PS, PSW *SAVE PS

gsnga ug.#su :1S THE PS 107

HLT z :THE PS IS NOT EQUAL TO 10

&:"3 chs'asas.m : 18 THE RESULT 1525257

HLT 3 sR1 IS NOT EQUAL TO 152525

3 ST I 00636 36 360 36 300036 36 36 036 360036 2036 36 36 6 36 06 3036 3600 36 36 301036 36 0036 3600 3036 30 0030 30 30 6 3600 6 30 30 3000 2000 00 20

:TEST 76  RSH 125252 SHIFTED BY -2 = 165252 PS = 11
l**i*i!ii!!li*i*li***!i&!ii*****ll!**!ill**ll*!l!!i!**!**i*l*!*****!

SCOPE

MOV #125252, %1 -Loao Rl WITH 125252

ASH $-2,%1 :SHIFT R1 BY -2

MOV 8PS PSu ;sav%Es

%a m Psu : 1S PS 117

HLT < THE NOT E TO 11

&n; oissasa,xx :1S TE gsu.r 1

HLT :R1 IS NOT EQUAL TO 165252
!i!!i!lilll*li&*illii*ill**!!i!l{!*l*l!!!!!!!!!i*ili**ll!!!!!!!*!!il
:TEST 77 ASH 40000 SHIFTED BY 177762 = 1 PS = 0
l!!l!!l!!!!!!lllil!!lll!!!il!l!!l&l!iiilii!i!ii!il!!!*iii!&!!i!i*!*l

SCOPE .

MOV #40000, %2 sLOAD R2 WITH 40000

ASH 8177762, %2 iSHIFT R2 BY 177762

MOV 34PS, PSH : S

CMPB  #0,PS5W : :1s PS 0?

BEQ .44

HLT s THE PS IS NOT Em T0 0

CMP 81,%2 :1S THE RESULT

BEQ 44

HLT sR2 IS NOT EQUAL TO 1
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ill!il!l*!l*!i*!!!l*il!l!l!!*!!l!!*i!!*i*li*!**!**!l*ll**!*!!**ll*l*
;TEST 100 ASH PS=0

40000 SHIFTED BY 177763 = 2

'!i!llll!!!ll!illii!lit!llllil!lll**illl!*!li*!llllill*!lllllllli*!!&

SCOPE
MOV $40000, %2 :LOAD R2 WITH 40000
ASH 3177753 % :SHIFT R2 BY 177763
0064EY MOV :SAVE PS
006456 55"33 n Psu :1S THE PS 07
HLT mepsxs NOT EQUAL TO O
SEE agq-/.a :1S THE RESULT 27
HLT : ,Ra IS NOT EQUAL TO 2
llll!!!l!lll!llll!l!!!!ll!lll!!!!ll!*ll*i!!l!llllllllli!ll&i*!l*ll*i
TEST 101 ASH 40000 SHIFTED BY 177764 = 4 PS = 0
l!ii!iil!ii*iillill!!lllilil!ilili!lilliiilll*il*!*!*li!*i!&*&ll&l&i
SCOPE
MOV $40000, %2 :LOAD R2 WITH 40000
ASH 8177764, %2 :SHIFT R2 BY 177764
006422 MOV J8PS, PSH :SAVE PS
006414 85"58 OEQPSH 1S THE PS 07
HLT E ;THE 95 IS NOT sounl. 00
CHP 84, %2 +1S THE RESULT 4
BEQ .+
HLT :R2 IS NOT EQUAL TO 4
-l*!lil!!!llill!*!!!i!!!l!i!!l!l!llill!!ll!!!!ll!!!lll!l!!l!*ll!l!l*l
:TEST 102 ASH 40000 SHIFTED BY 177765 = 10 PS = O
ll!lil*!ii!!*!Ilillll!lil!ll!!iiilll*l!!llll*!!ll!!!!!lil*ll*ll&llil
: MOV $40000, %2 ono R2 WITH 40000
: ASH 8177765, %2 sSHIFT R2 BY 177765
006360 MOV J4PS, PSI :SAVE PS
006352 gema cgqpsu ;1S THE PS 0?
HL ) rmpsxsnorsmroo
ca:g; 'iﬂ"‘a :1S THE RESULT 107
HLT 1 :R2 IS NOT EQUAL TO 10
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DCKBIB.

ERRRR R R R R R RN R R R R R AR R R R R R RS R AR R R AR R R AR AR R AR R R R R R R AR

;TEST 102  ASH 40000 SHIFTED BY 177766 =20 PS =0
T e e T T T Ty e P T2 T AT

1 SCOPE
1 MOV woooo %@ :LOAD RZ WITH 40000
1 ga’ %2 :SHIFT R2 BY 177766
13762 006316 .ws sav; PS
mr 006310 ecm ogqpﬁu :15 THE PS 0?
u.? :THE PS IS NOT EQUAL TO O
000020 CHP 820, %2 :1S THE RESULT 207
m&‘% 8EQ .4
HLT :R2 IS NOT EQUAL TO 20

s RREREAREEEREEREREREEEEEEEREEREE SRR 0 I 0 02 20

;TEST 104 RSH 40000 SHIFTED BY 177767 = 40 PS = 0
T T T T T T T T T T T T T T AT Y

01070 SCOPE
i s IR R
006254 MOV ap;su :
006296 &? f‘,’q H PS 0?
000040 ' Er "o, %2 Hlecrie REsr agr e 0 0
n.? : ;R2 IS NOT EQUAL TO 40

S EEEEE R R R I I 0 I I R

-TEST 105 RSH 40000 SHIFTED BY 177770 = 100 PS = 0
SHHHHEHHHHHHHHHEHHHEHEHHHNHHHEHHHHEHHHE HHEEHHHHE HHEHHHE R

M TH
EORQTREE I 40000
;15 PS 0?
;THE_PS IS NOT EQUAL TO O

0120.%2 33 RESULT 100?
;R2 IS NOT EQUAL TO» 100

8
&
~837

—
-
q§§§§§§
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DCKBIB.

001000

(EREREERRARESEERERRERRERRRREREREREERERERRARRERERERRRRERRRARERRRRRRERE

;TEST 106  ASH 40000 SHIFTED BY 177771 = 200 PS = 0
N T T T T T e P R AR RN R A T

SCOPE
Ty
8’5" IQQPQH ?g'%: PS 0?

u.? ) :THE PS IS NOT EWUAL TO O
gg; '§3° 72 ;1S THE RESULT 2007

HT :R2 IS NOT EQUAL TO 200

3 RS L o @RI I I T 30O I O I S S T 0 0 S S 0 S

;TEST 107  RSH 40000 SHIFTED BY 177772 = 400 PS = 0
T T e A e e PR e e e

SCOPE
2 g‘f%’% 1S e B 177792

80 'Ts Ps 0?
E? 4 THE TE 10 0
grcv w’go.xz Exsrﬁgmr&?‘
HL ) :R2 IS NOT EQUAL TO 400

§ SHHHHHHHHEHHHHEHHHEH HHHHHEH 123
;TEST 110 ASH 40000 SHIFTED BY 177773 = 1000 PS = 0
§ SHEHEHEHHHHHHHHHHHEHHHHHH

g o
S o g%;m,%
oo .

PS 0?
HL NOT EQUAL TO O
S ume RER

SULT 10007
K ;RE.' IS NOT EQUAL TO 1000

—— -
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s ERERERERERESEERR R RN R R R R R R R R AR R R R R R R AR R R R R R R R R R R

sTEST 111  ASH 40000 SHIFTED BY 177774 = 2000 PS =
!i!il!llllll!llll!l&llllll{lllll!ll!lllllllllllll!ll!!l{llllllllilli

SCOPE
R L R
PS 0?

g-"aa i&fm }in -

ch strgga'ﬂ%mu

B e

ng ] :R2 IS NOT EQUAL TO 2000
;“l“ BREBERIEFRERR R BESEFEHRRREREEB TR
sTEST 112 ASH 40000 SHIFTED BY 177775 = 4000 PS = 0
H EEHEEE

%@ HITH

o % °‘?1"iz L3953

MOV w;gpsh

?a ".’4 '1s Ps 0?

HL ; :THE_PS IS NOT EQUAL TO O

g‘m o;oqooo,xa ;1S RESULT 40007

H i :R2 IS NOT EQUAL TO 4000
;uuumummm&m&
sTEST 113 RSH 40000 SHIFTED BY 177776 = 10000 PS = O
;u;mmmmuummmmmmmumm

uovscm . w» HITH

% m:e %nie 37 1;%

gﬁ 094“ 3&1 fs“'ﬁ-: PS 0?

H ) :THE PS IS NOT EQUAL TO O

g‘m cigmo.xa :1S THE T 10000?

HL : :R2 IS NOT EQUAL TO 10000
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o SRR I 00 0000 0000 0 0000 00 00 00 3000 0000 00 00 0 030 00 0 30 00 00 00 00 0 30 00 00 00000 3 00 000 00 30 00 0 30 0

;TEST 114 ASH

TED BY 177777 = 20000 PS = 0

'illliillllil!*lllllllllililI!Illlll!lll!l!lllllli!ill!l!ll!lllllllll

gSePE

rE3ce

E

253

;LOAD R2 WITH 40000

5% sumpéu BY 177777
cgﬁu '?gv;r: PS 0?

’ :THE PS 1S NOT EQUAL TO G
sggooo,-/z :1S THE RESULT 200007

;R2 IS NOT EQUAL TO 20000

llllllllill!lllll!lli!ll!lllliﬁl!llllll!ll!ll!llllaiiilll!!lliii!l

.3
;IEST 115 RASH
:

e

Lo

-

3 B
;TEST 116 ASH

FRYERgERa

40000 SHIFTED BY O = 40000 PS
SHHHHHHHHHHEEHHHHHEE HHHEHHHHHEEHHHHH I HHHHEH

%2 gu Rseﬂs$ﬂ 40000

&

3PS PSW

ngqpsu xs PSO’

p s THE PS IS NOT EQUAL TO O
umnm.x& 1S THE RESULT $0000?

;R2 IS NOT EQUAL TO 40000

RERRERER
momsumoav-xs ==l PS=10

3030 3636 96 38 36 3 36 36 96 36 38 36 36 3 36 38 36 3 3 3
sl % : WITH 1
.- pg :%% Ey -12
810, PSH ;1S THE PS 10?
: ; THE_PS IS NOT EQUAL TO 10
o;g'.zz ;1S RESULT -1?

;R2 IS NOT EQUAL TO -1
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3 RERERRRE 00 T 003300000000 30 3000 0 00 06 00 00 600 3036 30 3 000 00 000 30 3000 0 0 20 00 3 0 R 2

:TEST 117 RSH -1 SHIFTED BY IS. = 100000 PS = 11
!lililill!ll!lll!!!l!i!!ill!!!i!lI!I&l!lllii&l!lil!l!l*llilli!ii!l*l
SCOPE
ST 11y
Ru  JeesrE, i BVE pe
BEcm=a ny‘,#su xs THE PS 11?7
u.? ’ sTHE PS IS NOT EQUAL TO 11
&m cig'wao.ve :1S THE RESULT 1000007
rt? 5 :R2 IS NOT EQUAL TO 100000
!!l!!ill!!lll!ll!!!l!ll!!ii!!Ill!lili!i!!lilil!Il!iil!llllll!!!!!!li
:TEST 120 ASH -1 SHIFTED BY 16. =0 PS = 7
,!I!! llilll!Il!llll&lll!lill!lllill!llllliiilillll!l*
SCOPE
ey e EPT B2 BY 16
a-?é'& : )
CPB  #7,PSu 1S THE PS 77
E? -4 10 ?7
e w0 T TTE RESULT B
BEQ 4
HLT :R2 IS NOT EQUAL TO O
!l!!!i!lll!illilllll 23T TTLILELILIITIET IS ZITALTILILITLILIZILTITELILEL S S
rzsr 121 ASH 13ﬂnsuxmnav15 = 100000 PS = 13
FEERERBEDELE E3 323233222 2222 333 223223222223
SCOPE
MOV sl %@ NITH 137777
ﬁ u ..xa' ’94“?1“52 é
gra na #su m:: PS 137
u.? :THE PS IS NOT EQUAL TO 13
&9 oiqumm.xa ;1S THE RESULT 1000007
u? . :R2 IS NOT EQUAL TO 100000
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s RRERERREEEEERREREE R R R R RN R R RN RN AR AR

;TEST 122  ASH 125252 SHIFTED BY 1 = SeSe4 PS = 3
illlinilliiii}l;iifiiiii§§§|§ii§§|ii{!ii*iii*iii{&iin§i§§*§§iii§ui§§

SCOPE
MOV $125252, %2 :LOAD R2 WITH 125252

RSH 81, %2 :SHIFT R2 BY 1

MOV J3PS PSW :SAVE PS

gra ogqpsu ;1S THE PS 3?

&? nepsxsuoreom.roa
5’:'5 osasaqﬂ %2 :1S THE RESULT 52524

HLT ) :R2 1S NOT EQUAL TO 52524

3 SIS SO IR B0 T SIS 30 30 06 30 00 36 30 36 36 30 38 00 00 00 36 30 30 36 36 38 308 30 06 30 30 36 30 36 36 36 38 36 0 96 36 3630 36 36 36 360 30 36 30 36 3036 36 %

:TEST 123 RSH 125252 SHIFTED BY -1 = 152526 PS = 10
!*!lll!llll*lll!!llllillll!!lllii!ll!!i!illlli!!!lil!!!!ll*ii!lliii*

novSCCI > 8125252, %2 WITH 125252

ASH 81 %2 %ai 91“52 57

MOV 3PS, PSW

CMPB  #10,PSH xs PS 10?

aso .44

sTHE PS 1S NOT Eoum. ro 10
oi‘s.asas,xa :1S THE RESULT I

ERE
-00

;R2 IS NOT EQUAL TO 152525

3 SR 3300 333030 36 3630 06 3 0 00 0030 36 30 36 36 36 3 036 330 36 36 30 00 36 00030 T30 06 0 003030 30 36 00 00 030 30 00 O 0 0

TESTIE'! ASH 125252 SHIFTED BY -2 = 165252 PS = 11
Iilllll&illlli!llilllli&lllll!llilli!lllll!l!ll!!lll!lllllllll!!
SCOPE
MOV 8l % -Loao re um éaszsa
By S i
MOV 3 ;
&n cﬁ.bsu .15 PS 11?7
u.? y :THE PS IS NOT EQUAL TO 11
!cm sissasa.xe : 15 THE RESULT 1652527
n.? g :R2 IS NOT EQUAL TO 165252
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SCOPE
MOV

OV

CHPB
i

cHP
BEQ
HLT

35

BEQ
HLT

J383

BEQ
HLT
CHP
BEQ
HLT

h
2

lllll:;gillag;llllllilllliii!!lllllllllllilll‘lllll!ll!!il’!lill!!!*

40000 SHIFTED BY 177762 = 1 PS = 0

:!lllilllilllll!l*llilllllll!i!i!lilliI!li’lllllllll!ill!l!llill!!lil

i

Psu : 1S THE PS 07
%3

TI'EPSISMTEO.H.TOU
;1S THE RESULT

;R3 IS NOT EQUAL TO !

3 SESE SIS 00 T 0T 06 S0 38 36 00 06 060 06 30 00 0 00 0006 30 36 30 030 36 30 330 38 30 36 000 36 3000 0030 36 30000 36 30 00 06036 30 30 00 6 30 00 20 8

s TEST 126
'llllll!!llllllllIillllli!lil!!*ll!!lllll!l!lllll!lili!!l!l!!!li!!lll

g o N

opgg:sh
82,73 Exsrﬁgmtg‘?‘“mo

40000 SHIFTED BY 177763 =2 PS =0

IS#!PSO’

;R3 IS NOT EQUAL TO 2

§ SESHIEIEJE 00 S 00 S 030 36 00 00 000 36 00 00 30 00 S 3600 30036 30 0 0000 36 30 06036 00 0 30006 30 T 03 T 00 30 S I

sTEST 127
DEEHEHHHEH O R

40000 SHIFTED BY 177764 =4 PS =0

#40000, %3 ;LOAD_R3 gYTH 40000
%3 177764

SHIFT R3

PSW .Wps 0?
%3

STE&EMTEMTOO

,REI IS NOT EQUAL TO 4
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lllll!lll!’!lllillillll!illill!illil!llilllllillll!!!lillllllllll!ll

;TEST 130  ASH 40000 SHIFTED BY 17776S = PS =0
llllil!lliiiliiilil!iiiliiiilil!lll!*!!*ill!l!!llill!!**!i!l!il!i!l!

i %3 T B3 BY 177760
339 atPS:: :Siﬁ :gvz F5
c" a ’

%0, PSW :15 THE PS 0?
BE 44
HL :THE PS 1S NOT EQUAL TO O
CMP $10,%3 :1S THE RESULT 107
BEQ .44
HLT sR3 IS NOT EQUAL TO 10

3 SRS I JE 030 3600 00T 36 0630 36 000036 36 0036 30 30 036 0008 36 3000 36 36 06 3036 36 00 6 30 30 6 000 0030 3008 36 0000 6 30 36030 00 00 0 300 6 30 30 0 26 00 00 0

sTEST 131  ASH 40000 SHIFTED BY 177766 = 20 PS =0
SR R

SCOPE
MOV 840000, %3 sLORD R3 WITH 40000

ASH um%‘xa ;SHIFT R3 BY 177766

MOV 3PS :SAVE PS

CMPB ;15 ns PS 0?

BEQ .44 :
HLT s THE E IS NOT EQUAL TC O
E':‘Z oa&,xa :1S THE RESULT 207

HLT :R3 IS NOT EQUAL TO 20

§ HHHEHHHEEHHHEEEHHHEEHHEEHHEEHHHHEHHHHHHHHEHHHEHHHEEHHHEHHHEHHHHE
sTEST 132  ASH 40000 SHIFTED BY 177767 = 40 PS = 0

'lilllli!!!i!llilllll!!l!l!*l!!li*i*l!l!l!l!!il*l*l*liii*ll!l**l!l***

SCOPE

A

W 5:95 gve PS

CMPB %0 :1S THE PS 0?

acg e

HL rrzvsxsmr:mroo
40, %3 ;1S THE RESULT

aeg L+

HL sR3 IS NOT EQUAL TO 40
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il!lll!!l!!!i!l!lll!li!lllllllllllillillilil!l*llilllllallillilillll

;TEST 133 RSH

40000 SHIFTED BY 177770 = 100 PS

'lllllllliill!!!!l!ll*llli!l!lil!ili’!*lll*l!!&l!llill!i*iiil*lll*ll*

SCOPE
MOV
ASH
MOV
CHPB
it
HL
cHP
Rt
HL

4 %3 : WITH
8l %3 .suxrrnga gv 1;9%

8PS, PSH :SAVE

ogqpéu : 15 n: PS 07

;i :THE PS IS NOT EQUAL TO O
oiquo,-/a :1S THE RESULT 100?

;R3 IS NOT EQUAL TO 100

lliill*ll!!l!*lili*!!!il!ll!!!i!li!l!i*li!*l!!*i!lggi!!ﬁ!*ii*ll*l!ii

:TEST 134 ASH 40000 SHIFTED BY 177771 = 200
3 GEFEERIBLERE R PR R L LSRR B RSP RS AR R B RA R RSB LR R R
SCOPE
MOV #40000, %3 ;LORD R3 WITH 40000
ASH 8177771, %3 i1SHIFT R3 BY 177771
R Vs
ol BTN
HLT 3 : THE NOT EQUAL TO O
% oa*go,xa 218 Tﬁ gsu.r 500?
HLT 3 :R3 IS NOT EQUAL TO 200

3 33300000 300036 3636 36 36 36 36 06 06 30 36 36 36 36 36 36 360036 38 36 36 36 36 36 30 36 3038 36 36 36 06 3096 3636 36 36 3636 36 36 3036 3636 36 36 36 3090 30 38 36 36 20

sTEST 1

40000 SHIFTED BY 177772 = 400 PS = O

35 ASH
!l!lllliililliil!l!*ilii!!i!l!!ii*ll*l**il!*ll!iiiiiiliil*!!lilili**

40000, %3 :LORD R3 WITH 40000
81 %3 sSHIFT R3 BY 177772
3%PS ; PS

cgqpéu :1S THE PS 0?

X s THE PS IS NOT EQUAL TO O
o:go.xa :1S THE RESULT 4007

’ sR3 IS NOT EQUAL TO 400
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004470

004426
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3 SRR I I T I T 0T 00 0 00 00 00 00 T T30 000 00 000 006 000 0000 00 30 00 I I B R

;TEST 136 ASH 40000 SHIFTED BY 177773 = 1000 PS = O
T P e A I FE e P T T T ST e

SCOPE

MOV #40000, %3

B MR
%0, PSW
44
000
+4

c #1000, %3
n.? :

L0ﬂ0 R3 WITH 40000
IFT R3 BY 177773

PS
IS THE PS 07

;THE PS IS NOT EQUAL TO O
;1S THE RESULT 10007

;R3 IS NOT EQUAL TO 1000

li!ll**l**!il!!!ll!!lllilllll!l!lll!!l!l!ii!l!ll{llii‘!lliill{llllll

TEST 137 RSH 40000 SHIFTED BY 177774 = 2000 PS = 0
uuuu&umum&nnmu*mmnumm&mmmu

SCOPE

MOV #40000, %3 Lono R3 WITH 40000

ASH 8177774,%3 IFT R3 BY 177774

MOV 3PS, PSH 5

&ma ugqpéu xs THE PS 0?

u? - s THE PS IS NOT swu. T0 0
&m :gqoouxa xs THE RESULT

H.? ) sR3 IS NOT EQUAL TO

3 SEREEIE A6 00030 30 36 06 006 3006 36 00006 30 336030 36 000 360036 00 36 36 06 3036 T I I R

sTEST 140  ASH 40000 SHIFTED BY 177775 = 4000 PS = 0
D EERHHEEHHE

nov5 i

ASH mms %3
MOV J8PS, PSI
CMPB  #0,P5u
aeg .+

HL

CHP #4000, %3
BEQ .44

HLT

;LORD R3 WITH 40000
;SHIFT R3 BY 177775

SAVE PS
;IS THE PS 0?

;THE_PS IS NOT EQUAL TO O
;1S THE RESULT 40007

;R3 IS NOT EQUAL TO 4000
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DCKBIB.SRC ]

007472
007474
007476

013767

2

§

e

8
&

3

B

1
177776 004322
000000

010000

004314

004260
004252

004216
004210

3 SR I3 30 36 0 00 06 36 36 36 36 3636 36 30 30 36 30 36 36 3690 30 36 3630 36 36 38 30 36 30 26 30 30 36 36 30 30 56 36 96 36 36 36 36 36 36 36 0 30 36 30 36 30 36 36 36 30 0 30 30 3

sTEST 141  ASH 40000 SHIFTED BY 177776 = 10000 PS = O
Tt T e T e T T T e Tt T R T e e

MOV " %3 : WITH 40000
ASH 1l %3 sﬂ"?tnia BY 177776

MOV JsPS, PSW

E;"EB cgqpéu xs nc PS 0?

HLT s s THE PS IS NOT EQUAL TO O
55"8 o‘z\gooo,-/a :1S THE RESULT 10000?

- & S ;R3 IS NOT EQUAL TO 10000

!!ii!i!!!!!!*!**lii!!i!*!!illii*lllll!illl!ill!i!lill!!!iallliiillil

; TEST 142 ASH 40000 SHIFTED BY 177777 = 20000 PS
R RS R

SCOPE
MOV $40000, %3 :LOAD R3 WITH 40000

ASH 8177777, %3 :SHIFT R3 av 177777

MOV J4PS, PSH :SAVE PS

gsnaa ngPQH 1S THE PS 0?

HLT . :THE PS IS NOT EQUAL TO O
35"0’ ugqoooo.za :1S THE RESULT 20000?

HLT g :R3 IS NOT EQUAL TO 20000

3 33303006 3006 0638 38 36 36 36 36 36 36 36 3 00 3636 36 36 36 36 00 30 36 36 36 36 36 36 36 36 3636 36 36 36 38 36 36 3036 36 36 36 30 36 36 3038 36 36 36 36 30 36 96 3038 36 30 36

sTEST 143  ASH 40000 SHIFTED BY 0 = 40000 PS =0
lllllllill!li!!!ll!llllil!!!l!l!!illiill!ii!llliiil!ii!lll!lii!&!!!l

SCOPE
- kﬂ"?:"ia"éy'" o

MOV 3PS, PSW

grera :gﬁpsu xs wz PS 0?

u.? ! :THE PS IS NOT EQUAL TO O
CMP o:gooo.za :1S THE RESULT 40000?

EE? ;R3 IS NOT EQUAL TO 40000
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EEREERERRERFRERRERERRERERRERERRERRRERERERERRREERRERERERRRREFREREREEE

100000 SHIFTED BY -15. = -1 PS = 10
PHEEEEEEEE O S R R

:TEST 144  ASH

#100000, %3 +LOAD R3 WITH 100000
$-15. %3 sum R3 BY -1S.
34PS_ PSi :SAVE PS
$10, PSW :15 THE PS 107

mz PS 1S NOT soum. 0 10
#-1,%3 :1S THE RESULT

,R3 IS NOT EQUAL TO -1

llllllll!!lllllllllilil!i!llll!i!!!!llli!li!!liill!l!!!iil!illliil!!

-1 SHIFTED BY 1S. = 100000 PS = 11
SR

;TEST 145  ASH

SCOPE

0 ’“23 kﬁr“ia“év“

JsPS ' PSW

%,ﬁsu xs nc PS 117

'iq 8 “Pé g NOT soum. ro 11

;R3 IS NOT EQUAL TO 100000

3 SEIEIEIE 30 30 0030 06 00 06 0036 36 36 36 000 36 30 36 00 36 36 3036 36 30 00 06 6 36 30 30 36 030 30 0006 36 36 0030 36 30 00 00 30 36 30 00 3020 00 00 3 00 2000 00 0 00

sTEST 146 ASH

-1 SHIFTED BY 16. PS =
L EEEEEEEEE

SCOPE

LOﬂD R3 WITH -1
1r1pga BY l16.

IS THE PS 7?

;THE_PS IS NOT EQUAL TO 7
;1S THE RESULT 0?

;R3 IS NOT EQUAL TO O
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PRERREREREREFRERFEREREREEREREEEEEEEEEEEREEEREREEEEEEEEEREEEEEEEREEEER

137777 SHIFTED BY 1S.

= 100000 PS =

13
ll*l!lll!llli!i!!lliii!!ll!l!!i!ii!!fli!lli!liliil!ll*l!!l*lil***lf!

:TEST 147 ASH
SCOPE
MOV 0137777 %3
B e
nzs 313 Sl
HLT v Ll
CMP #100000, %3
BEQ .44
HLT

;LORD R3 WITH 137777
sSHIFT R3 BY 15,

i SAVE PS
;1S THE PS 137

; THE_PS IS NOT EQUAL TO 13
;IS THE RESULT 1000007

;R3 IS NOT EQUAL TO 100000

3 S0 3036 300 36 36 30 06 3000 3630 36 36 30 36 36 06 30 36 3690 30 6 36 36 36 36 06 36 00 36 36 36 36 30 36 36 36 36 36 036 36 36 36 36 36 06 36 30 38 36 36 30 06 30 90 36 8 30 30 0 36 26 30

;TEST 150  ASH

125252 SHIFTED BY | = 52524 PS = 3

l!!!lililiillll!lll*llil!lilﬁlllllllll!llllli!i!li!lilliilll!*llill&

£125252,%2
81,73

.a"ﬁsu”s“

#52524, %3
.44

;LORD R3 WITH 125252
sSHIFT R3 BY 1

’?ﬂvgussps 3?

;THE_PS IS NOT EOURL T0 3
;IS THE RESULT 525247

;R3 IS NOT EQUAL TO S2Sed

5 SRR I 06 063636 3600 36 06 36 36 36 30 00 036 36 36000 3006 06 00 036 36 36 06 36 36 36 060 636 36 90 0636 36 06 9036 36 36 36 3036 36 0630 0 36 26 30 30 30 0 6 0 30 0

125252 SHIFTED BY -1 =

152525 PS = |

0
l!*l!l!ll!il!!i!l!l!*l!l!lilii!!l!llliill!iili!*l{!l!i*ll!l!ilil*lli

:TEST 151 ASH
SCOPE
MOV #125252, %3
ASH 8-1,%3
MOV 3sPS, PSW
CMPB  #10,PSi
BEQ 4
HLT
CHP $152525, %3
EE .44

;LOAD R3 WITH 125252
;SHIFT R3 BY -1

: PS
!ﬁﬁtsmi

;THE PS IS NOf EOURL T0 10
;1S THE RESULT 1525257

;R3 IS NOT EQUAL TO 152525
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MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

RERERRREAR RS ERERER R R R R AR AR AR R R R R R R R AR R R RR R R R R R R R AR AR R AR AR 2R

:TEST 152  ASH

125252 SHIFTED BY -2 = 165252 PS = 11

llilllill!llll!lllllllllllilllllll!!lillll!lill!!ll!l*liilillli:!!li

¢

5155?‘?;3 : _%,...“‘2 sgausyu 125252

.Lx..ksu % PS 117

: :THE PS IS NOT EQUAL TO 11
52527

Ii&SESE.ﬂ ;1S THE RESULT I

0000000000

bcpospopopopapopapope

00000

Eﬁzgi 3
—
- NN

| ot eniand.and and ond
YRFZRT

;R3 IS NOT EQUAL TO 1&5252

3 SRR R I I3 3 S I O S 00 30 30 6 30 00 000 00 0 000 S0 036 S0 300 36 00 3 30 0 00 06 0

s TEST 183

Y0000 SHIFTED BY 177762 = 1 PS = 0

lll!llll!llllllllllllllllliillil!il SR I R

s
—-

0000000000
Ty ez ez TeTe Ty T
FIORPFSWH
A

§§¥E§§§§§§

§ SHHHHHHHHHHHHHE
s TEST 1S4

%% 15000 R WITH 40000
20, P HE5E s 0r
o, HETHE RESWT Go 0
;R4 IS NOT EQUAL TO 1
SIS
40000 SHIFTED BY 177763 = 2 PS = 0 o

llllll!iil!i!llll!!lllillliliIlii!lll SIS I S0 3 3 6 S IR

: i

M JSPT R BY 177769

0, P %% 00
2,7 5:51?&5:"&5?“’700

0000000000

Bt prs B Bk ot P B 0 o2 B ea

BRRBESNSRS

;RY IS NOT EQUAL TO 2




COM
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DCKBIB.

;EERERERRE R RS R R R R R R AR AR R R R R R R R R R R R R R R R R AR R RE R R R R R

sTEST 1S5  ASH 40000 SHIFTED BY 177764 = 4 PS = 0
g T e e ST I P ey e e AT e e e T e}

010232 010701 SCOPE
B Yen pee B R, R
1 13767 003472 3PS
} ? 003464 SE" cgqpéu % PS 0?
o1 m? : .Mrg & NOT EQUAL TO O
gx q 000004 CHP 8, 7Y : 1S SULT 47
1 1 ae? .+
0l omnoﬁ HL :RY IS NOT EQUAL TO 4
!ll!llliiilll!i!il!!!l!lll!!ii!’lii!ll!lll!ii!!l!il!lliiliii!!li!i!l
:TEST 1S6 ASH 40000 SHIFTED BY 177765 = 10 PS = O
llllll!l!l!illll!l!ll!ll!!l!l!!l!!lllill!!il!l!l!il!l!lllll!!ll!lill
gi = 107 M RY WITH 40000
i3 en rem A R SRR
B oL BE B ,m;m. --
1 T ’ NOT soun. T0 0
R o 0 ge  EREEE
0i mootﬁ u.? - ;m IS NOT EQUAL TO 10
¢ S 3 00 A Fug
:TEST 157 RSH 40000 SHIFTED BY 177766 = 20 PS = 0
; P2 T I LIS ET I TT LIS ST LTI TTIL LT LS

3% 197 040000 W ) sLORD RY WITH
§i ’ % . % 31 P s SHIFT Pgu 1'7"9%3
1 4 oo:% gre cé?ﬁa }15 THE PS 07
8% % n.? a TE s: NOT sgm. T00
0 cHP 820,°M 1S SULT
git% E? e :RY IS NOT EQUAL TO 20
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MAINDEC-11-DCKBI-B RSH TEST
DCkBI3.SRC

3

S5
B

w
o

R
G
i B2

= Ft Bt fs P e oo s B P

: ¥
B

R
BN

i
+ A
-
‘-

OO0000D00000
Bt e et B B s Pt Bem § o0 Pt
U I
-
1

S
B
-

AR

B B 3 Beot ot B Bt Bod it Bt ok

s RRREERREARESERRRREEERERRRERRERERRREERERRERRRRRSRERRERES SRRRRRRERRERE

s TEST 160  ASH 40000 SHIFTED BY 177767 = 40 PS = 0
l!llllllll!ll!!lil!ll!l!!lillill!lll!l!!llli!ll!l!!!llli*lllllliliil

SCOPE
RSN BITTTEY M l:..‘?.“?r"" 7990
Il Y

&m '24 S THE PS 07

HL ) sTHE PS 1S NOT EQUAL TO O
aec" 840 :1S THE RESULT 407

H

;R4 IS NOT EQUAL TO 4O

3 HWWMHMHMM‘MMW"

sTEST 161  ASH 40000 SHIFTED BY 177770 = 100 PS = 0
T T e e e e e e Tt e P e R e e e e

SCOPE

MOV %4 ;LOAD _RY WITH 40000

ASH sl %4 i 2HIET RY BY 177770

MOV angg“ ; PS

i W BN

HL s THE NOT EQUAL TO D
cHP 8100, 74 ;1S 1'2 gﬂlT 100?
N

;RY IS NOT EQUAL TO 100

R

TEST 162 RASH 40000 SHIFTED BY 177771 = 200 PS = 0
EERHEEHE R B R

O LR
Ol Y

%3 .aooxu ,"‘rﬁ 50T Equa 10 0
%? i sRY IS NOT EQUAL TO 200




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

i0Es8 813704 ouooo0
e don o
iR W
% 554088

G

1

7

000
—p—

.*"."
8

35

00006

3
irgt JUcUUL

EO4
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ERRREERER R RS R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R AR

:TEST 163 RASH 40000 SHIFTED BY 177772 = 400 PS = O
;llllllill!lillli!lliil!llii!l!llil!lll!!lll!llll!illl!lll!lllll!l!ll
SCOPE
MOV o;mm z;oﬂ ;Lo?onmugulm
003156 ﬁ 3 : g b
003150 gn nghpﬁu :1S THE PS 0?
HL ’ :THE PS IS NOT EQUAL TO O
BEcu» ':30'“ :1S THE RESULT 4007
u.? : :RY IS NOT EQUAL TO 400

SHHHEHHHHHHHHHHHHE HHHHHHHHHHEHHE HEHHEHHHHHHHHEHHH
uo'goosurmavmmsxom PS =0
HHHHHHEHHHEHHHEHHHHHHHHHHE

'TEST 164 RSH
X 23

5 i 222222222222 22 22
A I L b
80310 ga io::?su 18" The Ps 07
g:ﬁz 41000, HEETIe AgslLr Jober O ©
LT ;RY IS NOT EQUAL TO 1000

HREEREEEEER

¢ ST S I IS I 3T 3 T S
;TEST 165 ARSH Y0000 SHIFTED BY 177774 = 2000 PS = 0
; HERE 3% % 1233232222222 223223

g: 017777’!%
00304 e S

g

CHP #2000, %4

B

;LOAD RY WITH 40000
IFT RY BY 177774

P2AVE PS
;IS PS 0?

IS T RSl S000%

;R4 IS NOT EQUAL TO 2000
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%P%?&MI-B ASH TEST

Rt
8 B

[ =3
Py

g

CRRERR
5

&

1
1
1
l
1
11
11
11
11
11

|
5
0110

1
14
16

B== Bt pm s Pt s oS Boa 8n =2

B e Bes P fes s B B0 B BB

0000000000

o SERART RT3 000 000 00 0000 00 30 036 00 30 003030 0000 00 36 30 30 06 30 3606 36 30 06 30 36 06 0630 00 30 36 30 36 36 30 30 30 36 30 30 30 00 30 30 30 30 2

;TEST 166  ASH 40000 SHIFTED BY 177775 = 4000 PS =
T R e T P e PP e

MOV :*looooo x;q Lo?grazq uguluoooo

R ey X i3VE ps. O 177778

&m oghpéu :15 THE PS 07

HL i :THE PS IS NOT EQUAL TO O
gver 'ﬁ&m-”" :1S THE RESULT 40007

HL : :RY IS NOT EQUAL TO 4000

3 SRS TSI B SO I T 30 0 S 036 36 06 36 36 06 0136 36 36 36 06 0638 36 36 36 06 338 36 3 0036 3636 368 36 36 36 00 00 3036 00 90 96 36 36 36 30 90 30 36 30 36 36

TESTI&? ASH 40000 SHIFTED BY 177776 = 10000 PS = O
FHHHEEHHHHEHHHEHEHHEEHHHEHHHEHHHHHEEHHHHEHHHHHHHHEHHHHNEHHHH

v Sy

MOV 31PS
&n;s IOAPQH xs m: PS 0?

; : THE S NOT E 00
g:p oigmo,m 115 rﬁ }zsu.r 1%?
u.? ’ :RY IS NOT EQUAL TO 10000

§ SHHHHEHHHHHEHHEEHHHHEHHHHEHHHHHHHHEHE
TESTI?O ASH 40000 SHIFTED BY 177777 = 20000 PS = 0
SHHHEHHHHEHHHEHHHHHEHHH

S8 9038 96 38 98 3 38 98 96 9 4 3% 9% 9% 96 3% 3% 3 9 9 3% 3

SCOPE

RN 1Py lsﬁr“" xSt

MOV  @8PS,PSH

gga qul%ﬂ 'S nt PS 0?

a? ] :THE PS IS NOT EQUAL TO O
grg; oa*gooo.m ;IS THE RESULT 20000?

BE .

;RY IS NOT EQUAL TO 20000




MAINDEC-11-DCKBI-B ASH TEST
DCKBIB.SRC

DH{.EQ 010701 .
e e
8111"" 1%7 &mlo
011152 140

Dlllg %
g g
Cliled &Iﬁ

011166 010701

011170 012708 177777
11174 7
| 13767

11 7 11
i

B11520 100000
011224 1401

011226

MACY1l 27(732)
s TEST 171

woooom
aobspsu
80

#40000, 74

011062 010701

5
SHioA Biver 1
0{1102 ﬁ 000000
Siiiie

UH{N 022704 040000
81113 m

s TEST 172
JREREER

§§§§

-

ERZ

s TEST 173

[ 13 ¥
= P '
—

3= 3

GO4

01-0CT-76 13:03 PAGE 46

3 SRS I T 0000 00 0006 030 06 00 T 00 06 3000 300030 30 30 00 0000 30 00 00 30 3 0036 30 36 36 36 06 36 00 30 06 0 0 30 36 30 36 00 30 36 00 30 36 36 36 30 30 01 00 00

40000 SHIFTED BY 0 = 40000 PS =0
T T P T T T TR AT T T R A T

%TR‘GHTHW

;IS THE PS 07

;THE_PS IS NOT EQUAL TO O
;1S THE RESULT 400007

;RY IS NOT EQUAL TO 400D

§ SETEIETR 30 36 0000636 36 36 00 0036 3636 36 00 3638 36 36 36 3636 36 36 36836 36 36 06 36 636 36 36 36 3136 36 90 30 36 3636 06 00 36 36 36 36 9638 36 3090 96 6 36 06 30 0 6 3¢

100000 SHIFTED BY -1S. = -1 PS = |
SHHHHHHHHHHHHEEHHHHHHHHHHHHEEEEHHHHHHHHHEEE

{EATPT R BY -1
B i

;THE_PS IS NOT soum. T0 10
;1S THE RESULT

;R4 IS NOT EQUAL TO -1

5 SHERTHE I I I 00 0000 T 0030360 003600600 000036000 0030 0 000363000 00003600 6 0036 30 000036 0 0 30 0 3

-1 SHIFTED BY 15. = 100000 PS = 11
SHEEHE R O RO

.LM RY WITH -1
IFTPFSN BY 1S.

IS THE PS 11?

7 ,IS TE g NOT Em TO 11

;RY IS NOT EQUAL TO 100000

— e e =




MAINDEC-11-DCKBI-B ASH TEST
DCKBIB.SRC

011230 010701

0{{232 01272; 177277
fiss fEG B
i Bl
DHEGZ m 000000
011266 1

011270

i i
g
i A

i EE oo
01133 M

0113M 81%
o
011 13767 &IIB
i o
011364

011366 022704 (0S2Sa4
‘011372 00140

011374

. — — —

MRCY11l 27(732)

002474
002466

002432
002424

HO4

01-0CT-76 13:03 PAGE 47

§ SEESE I 3030 3006 000 00 006 0000 30 06 3600 30 36 0006 000 06 300 T8 306 30336 000 00 R

-1 SHIFTED BY 16. =0 PS=7

'!Ill!!!lliliill!!ll!ll!!llil!i!!iliiil!l&llli!li!&!*!*ﬁ!!llll’*liﬁl*

TEST 174 RASH
SCOPE
MOV o-x,-/.q
RO e Pou
CMPB  #7,PSM
asg Ry
E}P 80, %4
a£$ L+
HL

o

.ISTI(PS?'

;THE_PS IS NOT EQUAL TO 7
;1S THE RESULT 07

;RY IS NOT EQUAL TO O

3 SEFIEIE T30 36 0000 30 36 00 3030 3600 06 0630 36 06 0 0630 36 06 36 36 36 36036 3636 00 0006 30 00 3138 36 30 36 3030 36 36 00 3030 30 30 06 36 30 00 36 0 36 00 30

s TEST 175

ASH 137777 SHIFTED BY 1S. = 100000 PS = 13

*l!i!!!!!lll!!!llll!ll!lll!!llilllI!!lllil!i!ll!lllill!iilll!il!*lli

8137777 ,%M sLOAD RY WITH 137777

815, , 74’ ;sum RY BY 1S.

33PS’ PSW :SAVE PS

cg . PSi :1S THE PS 13?

’ s THE PS 1S NOT EQUAL TO 13

cigumo,m ;1S RESULT 1000007

ERERgEa

;R4 IS NOT EQUAL TO 100000

3 SEIEEIE I 30000 306006 360036 36 3036 36 0636 36 006 36 0636 0636 36 0036 T 30 0036 36 00 306 00 306 006 30 0

:TEST 176 RSH 125252 SHIFTED BY 1 = 52524 PS = 3
!li!il!!!!&li!l*!*lil!*l&i!lii!**ii!ii!!l!lllii&l*ll!iliiiiilliii!*!

SCOPE

MOV uasasa N :LOAD RY WITH 125252

ASH 81,74 :SHIFT RY BY 1

MOV 3PS PSH :SAVE PS

&I‘PB o:jqpsu 1S THE PS 3?

HL d sTHE PS IS NOT EQUAL TO 3

g:v cs“a'sau,zq :1S THE RESULT 525247

u? y sRY IS NOT EQUAL TO 52524




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

112 10701

11 |

11 |
011410 013767 177776
11416 7 000010
i

114 022704 152525
O11M 00140

o114

011%40 010701

gll:l'é 01 1
Oﬁ%ﬁ 122767 000011
] P
SIIN7E OOLM o
0iiso0 00000

011502 010701
e

11 JLE 13767 i
011522 122767 (000000
e

11

11534 000001
011540 001401

011542 000000

MACY1l 27(732)

002326
002320

002264
002256

104

01-0CT-76 13:03 PAGE 48

5 SEREREIE TR I 06 0T T 06 0030 00 0036 306 30 36 36 06 06 9036 3000 06 3000 0036 00 0036 30 90 36 00 3636 36 30 036 00 30 6 30 30 6 36 00 3030 00 30 30 30 00 6 30 00

:TEST 177 RSH 125252 SHIFTED BY -1 = 152525 PS = 10
°!!!lll!!Ill!!llill!l!lll!illlli!ill!!i!lilll!il!llll!!il!!!il!*llill

SCOPE

MOV #125252, %4 ;guos%m ugu 125252

ASH =174 :

MOV 3PS, PSW

&m oig,hsu .15 n: PS 107

HL ’ :THE PS IS NOT EQUAL TO 10

gem aigasasm :1S THE RESULT 1525257

HL ‘ sRY IS NOT EQUAL TO 152525

§ SERTE T ST 00 S0 06 00 036 3 00 36 06 36 36 0636 36 3630 36 00 6 36 368 36 T30 6 00 0036 3000 36 30 3636 36 0008 36 0036 3600 063630 0000 00 30 00 0 0

STEST 200 RSH 125252 SHIFTED BY -2 = 165252 PS = 11
-iliili!!!l!iiii!l!l!ll!l!lilli!ll&i&i!!!i!!!l&*l***i!li!!i!*l**i*!ii

novs:: v 21 7N Lono R4 WITH 125252

%\"' 8-2,%4 IFT RY 5

31PS, PSW £ PS

gerra oy.,#su xs THE PS 11?7

HL y rﬁ g NOT Ewu. ro 11

gip oigsasa.m xs

ML ’ :RY IS NOT EQUAL TO 165252
l!illl!l!llll!!i!!!l!l 3636 96 3¢ 3¢ 3 3% %
TEST 201 ASH 40000 SHIFTED BY 177762 = | PS = 0

llllill!lliii!iiill!illlll!lllllil!*!il!illl!!iillii*lil*lli!ii*l***

et
cHP

BEQ
HLT

e

%5
g X
sgqpéa

TI-ETQISMTEMTOO

;RS IS NOT EQUAL TO 1




EE&g?S?;Aé-DCKBI-B ASH TEST

3 B

Bt s Pt P s B oo = = po
B b P B Pt P o $o 2 Bt o

FRIINEIAE

0000000000
== p=t Pt Pt § = Pt fom P P e
Bt et et Pt Pt Pt Pt s s Pt
oo
e e
£
g‘

FESRINE

SRS
: BE

1

0000000000
Bt e P Pt e Pt P2 Pt P2 G
$==0 Bt o0 oo P 2 oo B2 B Bz p=s

~
—
o

MACY1l 27(732)

o4
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§ ST I T I I I I T T30 000 00 ST 00 000 00 00T 300000 00 0036 30 026 36 000 00 T R R

:TEST 202 ASH 40000 SHIFTED BY 177763 =2 PS = 0
illli!llllllllll!l!il!l!!liilll!lli*l!i*llllllllll!!i!!lliilll!!l!l!

SCOPE

D PR omR

B MLITRY et

grépa ogqpéu rs THE PS 07

HL :THE PS IS NOT EQUAL TO O

CHP 2,75 : 1S RESULT 27

BEQ 44

HLT sRS IS NOT EQUAL TO 2

3 ST I3 0000 36 3600 06 36 36 06 06 636 36 30 00 3636 36 000036 36 00 300 36 36 36 00 036 36 00 0000 36 00 30 0000 30 00 00 030 36 3000 330 3600 00 0 0 00 00

sTEST 203 RSH 40000 SHIFTED BY 177764 = 4 PS = 0
l!*iii!!l!lli!iilli!&ii&l!il!i!lli!!llii!llll!lli!!lilllliliilill!!!

SCOPE

MOV $40000, %5 :LOAD RS WITH 40000

ASH umsgkv.s :SHIFT RS BY 177764

MOV S8PS :SAVE PS

g‘m 80, PSW :1S THE PS 0?

u.? s THE_PS IS NOT souu. 00

g‘m '24"5 :1S THE RESULT

u.g : sRS IS NOT EQUAL TO 4

3 SERESEIH 0000006 T T 3036 0000 30 0636 06 6 36 0 0000 36 0636 060 3606 0606 0T 0T T3 0006 036 0 30 I I 0

:TEST 204 RSH 40000 SHIFTED BY 177765 = 10 PS = 0
i!i!li!!l!!lll!llllliiillllilIi!!!!!li!!ll!&lii*!ll!*l!i!i!*ii!*!i!i

SCOPE

MOV 840000, S sLOAD RS WITH 40000

% 317773&%5 sSHIFT Pgs BY 177765

CMPB oﬁéu : 5 PS 07

BEQ 44

HLT . :THE_PS IS NOT EQUAL TO O

ge"é 'iﬂv"s : 1S RESULT 107

HLT I sRS IS NOT EQUAL TO 10




MAINDEC-11-DCKBI-B ASH TEST
DCKBIB.SRC

0000000000
Pt Pt P et et Pt Pt Pt P P
e e pes s o po Pt s pms P
gﬂﬂ

B

£V

D
i R

0{{75“ 010701

0li7es B1EE07 17797
011766 013767 177776
0}1774 1 000000
015004

oian?g 02270S 000040
1ol 00000D

o
—
]
p—
o
o
—
S

100

g

MARCY1l 27(732)

&
LE3LE3REs
z-:§_§

18 153

s TEST 206

s§§§
B

28
&4

s TEST 207

000000 001700

G

KO4

01-0CT-76 13:03 PAGE SO

l!lll!!lll!ll!il*i!llillllll!llilll!l!i!!llil!'!ililii!*iil!!!!iliil

40000 SHIFTED BY 177766 = 20
llll!l!!llllil!l*lllIllll!i!l!lllll!lll!llll!lll!llll!!l!&lll!ll!l!l

;LOAD RS WITH 400J0
sSHIFT RS BY 177766
iSAVE PS

;IS THE PS 07

; THE_PS IS NOT EQUAL TO O
:1S THE RESULT 207

;RS IS NOT EQUAL TO 20

3 SESEEIE I 00 T 0 00 0036 360030 36 0600 36 006 36 230 46 3 606 36 000 36 000 36 00 0 0 T 20 0 I R

40000 SHIFTED BY 177767 = 40 PS = 0
T T e PP T P e PP T e

;LOAD RS WITH 40000
;SHIFT RS BY 177767
;SAVE PS

S THE PS 07

'
;THE_PS 15 NOT EQUAL TO 0
;1S THE RESULT 40?

;RS IS NOT EQUAL TO 40

§ SEREI T T 0030 06036 06 000 00 00 0030 36 0030 36 00 00 3030 36 3036 3600 30 3030 36 0036 360030 30 00 30 060 36 00 036 0 3

40000 SHIFTED BY 177770 = 100 PS =0
R

o
0

IS THE PS 0?

;THE_PS IS NOT EQUAL TO O
;1S THE RESULT 1007

;RS IS NOT EQUAL TO 100




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

177776

e
Bl
¥

OO000000000
8
£
L o=
—

e s b Pt b P ok ot e

frurururUNY

00
.-§
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: ¥

0000000000
$=o s P =2 B P md P Pt om
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[SrgSoy Sl Sul g g Soff S Boog Sy
REENES 28R
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S
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12216 001
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&
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FEEREEEEEEHHH R
2l0 RASH 40000 SHIFTED

By 177771 =200 PS =10

!!ll*l!i!ll!!!!il{!l!!illi!llil!ll!lll!lll!!lllli!lll!!llilllllll!il

. %5 um
ng u%l %5 gongr
MOV 3%PS, PSH
&m :gqpéu -xs ns PS 07
HL sTHE PS 1S NOT EQUAL TO O
gg; cgqoo,-/.s :1S THE RESULT 2007
HLT ; :RS IS NOT EQUAL TO 200

5 SERIE 30 3000 30 0036 36 00 36 36 060 36 060 36 06 0636 36 3636 36 3636 36 30 6 36 9636 36 00 06 36 36 00 36 3636 36 0038 36 30 0 00000 36 36 3030 36 30 30 36 30 00 6 3

sTEST 211  ASH Y0000 SHIFTED BY 177772 = 400 PS =0
s T T P P P T T T

MOV RS WITH 40000

ASH 8177772, %5 sux RS BY 177772

MOV 3%PS, PSH :SAVE PS

gg;a 80, PSW 1S THE PS 0?

HLT : THE S NOT Eouu. T0 0
CHP #$400, %5 : 1S rﬁ &

BEQ .+4

HLT ;RS IS NOT EQUAL TO 400

3 SHIESEI I 2000 0600 00 0 0 36 06 0036 00 00 36 36 06 6 36 36 0636 000036 30 0636 3600 36 36 3038 36 00 6 T30 0 3600 036 0030 36 30 30 30 30 00 6 2600 00 0 00 0

sTEST 212  ASH 40000 SHIFTED BY 177773 = 1000 PS = 0
DR

SCOPE

MOV %S sLOAD RS WITH 40000

ASH 8l %5 :SHIFT RS BY 177773

MOV 38PS, PSI snv; PS

asmo ogqpéu 1S THE PS 07

HLT p « THE NOT E 00
ta:g; cigoo,xs : IS rﬁ gsu.r 1%’5

HLT ;RS IS NOT EQUAL TO 1000




MAINDEC-11-DCKBI-B RSH TEST
DCKBIB.SRC

i

)
§.-

S
ke

B
B

3}2272 8{0701 040000
D} 013767 |
QIS 143767 000003
15320 oooooD
cLU

l 004000
0iS3E obradl
012330 000000
012332 010701
012334 81 040000
gizauo gIE;E; 177776
01 7 600000
01 1401
01 000000
Dl23eM 022705 010000
812%;2 1401

X

MACY11 27(732)

s TEST 214

; TEST 215

88
£

MO4

01-0CT-76 13:03 PAGE S2

§ SRR I I I T JE 006 36 T 36 0036 06 00 6 06 00 00 00 36 0636 360036 3600 36 30 36 36 00 3036 0690 030 30 6 36 06 00 36 3000 030 30 0 30 30 00 6 00 20 0

s TEST 213 PS =0
l!!il!!l!!lll!ll!i!!i!l!i!!i!l!ii!ili!!lll!ll!li*lll!!lll**ll!li*li!

40000 SHIFTED BY 177774 =

$40000, %5 :LOAD RS WITH 40000

mmfo %5 sSHIFT RS BY 177774
#PS, PSI :SAVE PS

oo PSu :1S THE PS 0?

;THE_PS IS NOT EQUAL TO O

IEEOO.%S ;1S THE RESULT 20007

;RS IS NOT EQUAL TO 2000

5 SEJEEIE I I T 06 0636 36 0696 36 36 0636 36 36 0036 0600 36 366 36 36 366 36 06 30 36 3600 3030 36 036 00 3036 366 36 36 3636 36 30 006 30 30 6 36 30 136 30 0 6 00 20 0

Y0000 SHIFTED BY 177775 = 4000 PS = 0
L Ty P Ty e T e Tt P P FRY PHT T

;LOAD RS WITH 40000

#40000, %S
8l %5 SHIFT RS BY 177775
s

:SAVE PS
;1S ?HE PS 07
;THE_PS IS NOT EOUﬂL 00

#4000, %S :1S RESULT
.

;RS IS NOT EQUAL TO 4000

3 SR IR 3006 30 0630 360 36 06 6 36 0636 36 9036 0036 06 00360636 366 36 3436 360036 0036 36 36 0036 0036 3600 36 0036 00 00 36 0036 06 3600 36 300 3600 6 30 0

40000 SHIFTED BY 177776 = 10000 PS = 0
DR

$40000, %S ;LOAD RS WITH 40000
3%"5 sSHIFT Pgs BY 177776
80, PSW '?gv'f'nc PS 0?

;THE_PS IS NOT EOURL T00
100007

013000,25 ;IS THE RESULT

;RS IS NOT EQUAL TO 10000

— e ———




NO4Y
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DCKBIB. SRC

l!ll!#lllil&ll!!!l!!lllll!li!li!lll’!l!il!lllill!lllllllll!llllllil!
TEST 216 RSH 4ODOO SHIFTED BY 177777 = 20000 PS = O
llll!lllll&!!i!l!li!!ll!li!llli!{iliillili*i{llllllll!illlllillill!!

§§§ﬁ % mg% §003PE womo, :LOAD RS WITH 40000

oi 013767 i 001330 2053 3:1»5 Psﬁxs EH\IIETPSRS vl i

SSEE g%’? o% 001322 CMPB  #0,P5W 1S THE PS 07

iaqaa 1401 gg ) s

Gl8ssd 929908 oe0000 B 420000,75  T8CTHE RESULT 200067

gmaa 140 BEQ o

12434 %oooﬁ HLT :RS IS NOT EQUAL TO 20000

§ S0 3636 303036 30 0636 36 06 6 36 36 30 6 36 36 963606 3636 38 36 36 36 36 9036 36 30 6 36 06 0 36 00 3036 06 00 36 36 3036 36 00 0036 06 00 36 30 00 36 36 000 36 00 30 6 30 00 0

;TEST 217  ASH 40000 SHIFTED BY O = 40000 PS =
RO

012440 012705 040000 MOV 40000, %5 ,Lono RS WITH 40000
gx % 80, %5 IFT RS BY O
1 13767 1 001266 3PS, PSW E PS
012456 122767. 000000 001260 CMPB  #0,PSuW IS THE PS 0?
01 140 BEQ 44
01 %uuoﬁ HLT s THE PS IS NOT EQUAL TO O
012470 022705 040000 CHP $40000, %5 :1S THE RESULT 400007
012474 00140 BEQ 44
012476 HLT :RS IS NOT EQUAL TO 40000
l!l&!l!!l!l!!!!!!!!!l!llll!l!li!li!ll!!ll!!l!ll!i!l!l!lill!ll!Il!!li
:TEST 220 ASH 100000 SHIFTED BY -15. PS = 10
*l*il&iilii!l!l!!ll!llllliill!!!lii!ll!iilillll!!illl!ii!l!!l!!!ll!!
012500 010701 SCOPE
012502 012705 100000 MOV #100000, %5 ;LOAD RS WITH 100000
15208 315967 177756 oot B0y 5;%#&5 ggmpgs o
tgu ?ﬁ%ﬁ’ 00001 omg?z genaa £10, PSid §xsv$|-z PS 10?
1 HLT s THE PS IS NOT EQUAL TO 10
D% -uiqa- 177777 ggg l:&.VS ;IS THE RESULT -1?
masﬁtmEE HLT :RS IS NOT EQUAL TO -1

S — —— —— " - - - ——
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